8 | 7 | 6 | 5 ¥ 4 | 2 | 1
415.30 mm 1.80 mm
r [16.350 in] j [0'07&1 in]
B ¥
84.53 mm
[3.3281in]
SECTION FF-FF
T
. in 3.18 mm
7.94 mm @4.32 mm !
U ! - J [0.125 in]
S 04 mm [0.313in] GG /[0.170 in] i
[0.313in] |t s 5 //i T g
l 0000000000000 0000000000000000000000000000000000, I
T OOOO00OOO000000OOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOC/S
0060009000000000006000800060006800000000060000066 55.56 mm
0000000000000 00000000000000000000000000000000000 [2188 |n]
0000000000000 000000000000O00000000000000000000000
000000000000000000000000'000000000000000000000000 l
0000000000000 0000000000000000000000000000000000
. _ . R 203.20 mm 196.85 mm
{ ® ® 1 [8.000 in] M [7.750 in]
FF 373.06 mm ‘ FF
[14.688 in] ‘
121.87 mm
[4.798 in]
I E | o 1 | i
GG~ R\V2U1908VBK
482.61 mm
[19.000 in] SECTION GG-GG Extruded Aluminum Frame - Type 6063
ASSEMBLY - VIEW FROM TOP 2 Parel§ -.064 Alumlnumll(5052-!-82) Powder Coat
HANDLE R3.18 mm 203.20 mm 2 Mounting Brackets - .125" Aluminum
MOUNTIN [0.125in] [8.000 in] 12 Screws - Flat Head 4-40 x 3/8"
o PR - 8 Screws - Counter Sunk Head 6-32 x 3/8"
<+ X# @® o 4 Screws - Counter Sunk Head 10-32 x 3/8"
76.20 mm %:i;or'i‘rr]‘]‘ 12 Nuts - #4 Speed Nuts
[3.000 in] . . ® . Four Self Adhesive Rubber Feet - 142173
Ress) @) ACCESSORIES
6.35 mm [40-3177 Qﬂir:]ﬂ] L PULL HANDLES 1427E1BK
[0.250 in] 466.10 mm .
(9635 ] ASSEMBLY - VIEW FROM SIDE HAMMOND
ASSEMBLY - VIEW FROM FRONT MANUFA CTUE]NG ™
Enclosures can be Factory Modified ( Milling, Drilling, Printing etc. ) A
Contact Factory  mjm@hammondmfg.com for quotes RM2U1908VBK
Solid models of this enclosure available in STEP or IGES.
waiw . ammondmig.com
8 7 6 I

5 7

4 I

2 I

1




